Year 2 Measurement - Maths Day 8						22.7.2020  
Please look through the powerpoint to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
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Reasoning
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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Super Challenge (Optional): 
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Answers: On the next page so please DO NOT look until you have finished your work first.
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Reasoning Questions (Answers)
[image: ]
Page 4 of 4

image5.png
7a. A vessel holds 10mL. Nine vessels
will nat 1l this botele but twelve will be
t00 much.

What could the capacity of the battle
b

4 o

7b. A vessel holds Sml. Six vessels will
ot il this bortl bat seven will be too.
much,

What could the capacity of the battle
be?

= o

Ba. Bortle A contains %l of kquid.
Bortle B is empty.If 4bmli poured
from bottle Ainto bottle B, which.
bortle has the greatest volume)

IL

b, Bottle A contains 72ml of bqud.
Bottle B iz empty, 1f 35mlis poured
from bottl Ainto bottle B, which
bortle has the greatest volime?

kT

. The bortle contains 75ml. Could all
of the lquid be poured into containers
A Band C?

L J=S

% .

% The bortle contains 62mL Cauld all
of the iquid be poured into containers
Aand B

4 EE

|7 .
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Expected

5a. 6

5b. 9

Tomt 6b.
somt
S0mt

30mt
20mt
“omt

7a.B
7b. A
8a. 40ml
8b. 30ml

Greater Depth
Qa. 16

9b. 20
10a. 10b.

11a.C,A,B
116. C, B, A
12a. 175ml
12b. 20ml
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Developing.

Ta. Between 91 and 93mL

1b. Between 51 and 63l

2a. A has 20ml, B has 30mL B has the greatest volume.
2b. A has 20ml, B has 20mL. They have equal volime
3a. No.20 .+ 20 - 40ml (not encugh capacity)

3. Yes. 30 + 20 - 50ml (enough capacity)

Expacted
4a. t5ml

4b. Between 41 and 5mL.

Sa. A has 28mi, B has 32mL B has the greatest volume.
5b. A has 42ml. B has 38mL. A has the greatest vokime
6a. No. 40 + 30 - 70m (not enough capacity)

6b. Yes. 70+ 20 = Dl (enough capacity)

Greater Depty
7a. Between 91 and 119l

7b. Between 31 and 34l

8. A has 49n. B has 46mL. A has the greatest vokime
8b. A ha 37mL. B has 35mL A has the greatest vokime
%, Yes. 6048 4.8 - 76ml (enough capacity)

9. Yes. 55° + F = 64l (enough capacity)

“The scales go higher than the numbers gven.
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7a. Which of these contains the most
liquid?

A B c
15ml 70ml 10ml

7b. Which of these contains the most
liquid?

A B [

75ml 70ml 12ml

8a. How much more liquid would be
needed to fill this container?

v

8b. How much more liquid would be
needed to fill this container?

70ml
0ml
ml
ml
30ml
0ml
10ml
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10a. Colour the container to show
125ml of liquid.

b

10b. Colour the container to show 50ml
of liquid.

60ml

40ml

20ml

e

11a. Order these liquids from least to
most amounts.

A B C

10ml 30ml Sml

11b. Order these liquids from least to
most amounts.

A B [

100ml 85ml 30ml
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2a. Bottle A contains 50ml of liquid.
Bottle A is empty. If 30ml is poured
from bottle A into bottle B, which
bottle has the greatest volume?

20
& A B

2b. Jar A contains 40ml of liquid. Jar B
is empty. If 20ml is poured from jar A
into jar B, which jar has the greatest
volume?

I A B

3a. The bottle contains 50ml. Could all
of the liquid be poured into vessels A
and B?

e

Prove it.

3b. The bottle contains 40ml. Could all
of the liquid be poured into vessels A
and B?

He
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4a. A vessel holds 2ml. Seven vessels
will not fill this bottle but eight will be
too much.

What could the capacity of the bottle
be?

heig

4b. A vessel holds 10mL. Four vessels
will not fill this bottle but six will be
too much.

What could the capacity of the bottle
be?

hoig

5a. Bottle A contains 60ml of liquid.
Bottle B is empty. If 32ml is poured
from bottle A into bottle B, which
bottle has the greatest volume?

5b. Container A contains 80ml of liquid.
Container B is empty. If 38ml is poured
from container A into container B,
which container has the greatest
volume?





